



ISSN : 2312 – 4962

جامعة بنغازي  
مجلة العلوم والدراسات الإنسانية – المرج  
مجلة علمية إلكترونية محكمة

رقم الإيداع بدار الكتب الوطنية 284 / 2014

# UNIVALENCE CONDITIONS FOR A NEW GENERAL INTEGRAL OPERATOR

Nagat Muftah Alabbar<sup>1</sup>, Aisha Ahmed Amer<sup>2</sup>

Mathematics Department, Faculty of Education of Benghazi, University of Benghazi

Mathematics Department, Faculty of Science -Al-Khomus, Al-Margib University

## ملخص

في هذا البحث، نقوم بتعريف مشغل تكاملي جديد في قرص الوحدة المفتوحة. والهدف الرئيسي من هذه الورقة هو الحصول على شروط احادية التكافؤ لهذا المشغل التكاملي أيضا العديد من النتائج لأخرى ذات الصلة .

## Abstract

In this paper, we define a new general integral operator in the open unit disk  $U$ . The main object of this paper is to obtain new sufficient conditions for the univalence of this general integral operator. Several corollaries of the main results are also considered.

**Introduction:**

Let  $A$  denote the class of functions of the form:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (1)$$

which are analytic in the open unit disk  $U = \{z \in \mathbb{C} : |z| < 1\}$ . Further, by  $S$  we shall denote the class of all functions in  $A$  which are univalent in  $U$ . For two functions,  $f(z) \in A$  and  $g(z)$  given by

$$g(z) = z + \sum_{k=2}^{\infty} b_k z^k,$$

their convolution (or Hadamard product) is defined by

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k.$$

The theory of derivative and integral plays an important role in the theory of univalent functions. It is believed that Ruscheweyh (1975) was the first to give a generalised derivative operator in the theory of univalent function. Later, Salagean (1983) gave another generalised derivative operator. In the same paper, he introduced an integral operator. Many properties have been discussed and studied by many researchers for these two operators. For example, Al-Oboudi (2004) introduced a generalised Salagean operator, Al-Shaqsi and Darus (2009) generalised the operator given by Ruscheweyh (1975), while Darus and Al-Shaqsi (2008) studied both derivatives of Ruscheweyh and Salagean. These operators motivate us to create another type of derivative operator.

The author in [1] have recently introduced a new generalised derivative operator  $D^{\alpha,n}(m,q,\lambda)f(z)$  as the following:

For the function  $f \in A$  given by (1) we define a new generalised derivative operator  $D^{\alpha,n}(m,q,\lambda)f(z) : A \rightarrow A$  as follows:

$$D^{\alpha,n}(m,q,\lambda)f(z) = z + \sum_{k=2}^{\infty} k^{\alpha} \left(1 + \frac{k-1}{1+q} \lambda\right)^m c(n,k) a_k z^k, \quad (1.2)$$

where  $n, \alpha \in \mathbb{N}_0 = \{0, 1, 2, \dots\}, m \in \mathbb{Z}, \lambda, q \geq 0$  and  $c(n,k) = \frac{(n+1)_{k-1}}{(1)_{k-1}}$ .

Here  $D^{\alpha,n}(m,q,\lambda)f(z)$  can also be written in terms of convolution as

$$\phi(z) := \left(\frac{1+q-\lambda}{1+q}\right) \frac{z}{1-z} + \left(\frac{\lambda}{1+q}\right) \frac{z}{(1-z)^2}, \quad (z \in U).$$

If  $m = 0, 1, 2, \dots$ , then

$$\begin{aligned} D^{\alpha,n}(m,q,\lambda)f(z) &= \underbrace{\phi(z) * \dots * \phi(z)}_{(m)\text{-times}} * \left[ \frac{z}{(1-z)^{n+1}} \right] * \sum_{k=1}^{\infty} k^{\alpha} z^k * f(z) \\ &= R^n * D^{\alpha}(m,q,\lambda)f(z), \end{aligned}$$

where  $R^n = z + \sum_{k=2}^{\infty} c(n,k) z^k$ , the Ruscheweyh derivative operator.

If  $m = -1, -2, \dots$ , then

$$D^{\alpha,n}(m,q,\lambda)f(z) = \underbrace{\phi(z) * \dots * \phi(z)}_{(-m)\text{-times}} * \left[ \frac{z}{(1-z)^{n+1}} \right] * \sum_{k=1}^{\infty} k^{\alpha} z^k * f(z)$$

$$= R^n * D^{\alpha}(m,q,\lambda)f(z).$$

Note that:

$$D^{0,0}(0,q,\lambda)f(z) = D^{0,0}(1,0,0)f(z) = f(z), \text{ and}$$

$$D^{0,0}(1,q,\lambda)f(z) = zf'(z).$$

By specialising the parameters of  $D^{\alpha,n}(m,q,\lambda)f(z)$ , we get the following derivative and integral operators.

- The derivative operator introduced by Ruscheweyh [2];

$$D^{0,n}(0,q,\lambda) \equiv D^{0,n}(1,0,0); (n \in \mathbb{N}_0) \equiv R^n = z + \sum_{k=2}^{\infty} c(n,k) a_k z^k.$$

- The derivative operator introduced by Şahîşan [3];

$$D^{\alpha,0}(0,q,\lambda) \equiv D_1^{\alpha,0}(n,0,1); (n \in \mathbb{N}_0) \equiv D^n = z + \sum_{k=2}^{\infty} k^n a_k z^k.$$

- The generalised Salagean derivative operator introduced by Oboudi [4];

$$D^{0,0}(n,0,\lambda); (n \in \mathbb{N}_0) \equiv D_{\lambda}^n = z + \sum_{k=2}^{\infty} (1 + \lambda(k-1))^n a_k z^k.$$

- The generalised Ruscheweyh derivative operator introduced by Darus and Al-Shaqsi [5];

$$D^{0,n}(1,0,\lambda); (n \in \mathbb{N}_0) \equiv R_{\lambda}^n = z + \sum_{k=2}^{\infty} (1 + \lambda(k-1)) c(n,k) a_k z^k.$$

- The derivative operator introduced by Catas [6];

$$D^{0,\beta}(m,l,\lambda); (m \in \mathbb{N}_0) \equiv D^m(\lambda,\beta,l) = z + \sum_{k=2}^{\infty} \left( \frac{1 + \lambda(k-1) + l}{1+l} \right)^m c(\beta,k) a_k z^k.$$

- The integral operator introduced by Cho and T. H. Kim [7];

$$D^{1,0}(-n,\lambda,1) \equiv I_n^{\lambda} = z + \sum_{k=2}^{\infty} k \left( \frac{1+\lambda}{k+\lambda} \right)^n a_k z^k.$$

The study of integral operators has been rapidly investigated by many authors, the Alexander transformation (Alexander in 1915), Libera integral operator (Libera 1965)

and later the Bernardi integral operator (Bernardi 1969). By using the generalised derivative operator given by Definition 1.2, we introduce the following integral operator.

**Definition 1.1** For  $f_i \in A$ ,  $i = \{1, 2, 3, \dots, s\}$ ,  $n \in \mathbb{N} \cup \{0\}$  and  $\gamma_1, \gamma_2, \gamma_3, \dots, \gamma_s \in \mathbb{C}$ , we define a family of integral operator by

$$F^{\alpha,n}(m,q,\lambda,\gamma_i;z) = \int_0^z \prod_{i=1}^s \left( \frac{D^{\alpha,n}(m,q,\lambda)f_i(z)}{z} \right)^{\gamma_i} dt \quad (1.3)$$

where  $\alpha \in \mathbb{N}_0 = \{0, 1, 2, \dots\}$ ,  $m \in \mathbb{Z}$ ,  $\lambda, q \geq 0$  and  $D^{\alpha,n}(m,q,\lambda)$  defined by (1.2), which generalises many integral operators. In fact, if we choose suitable values of parameters, we get the following interesting operators.

1.  $m = 0, \alpha = 0, n = 0, \gamma_i = \frac{1}{\alpha - 1}$ , we obtain  $F_{n,\alpha}(z)$  of by Breaz, Breaz and Srivastava [10].

2.  $m = 0, \alpha = 0, n = 0, \gamma_i = \frac{1}{\alpha_i}$ , we obtain  $F_n(z)$  of by Breaz and Breaz [9].

Recently many authors (see for example [2, 9, 10] and [11] have studied and obtained univalence conditions for the analytic function.

In the present paper, we also obtain univalence conditions for integral operator which is defined by (1.3).

To prove our main results we need followings Lemmas.

**Lemma 1.2** [12] *If the function  $f$  is regular in the unit disk  $U$ , and satisfies the inequality*

$$(1 - |z|^2) \left| \frac{zf''(z)}{f'(z)} \right| \leq 1 \quad \text{for all } z \in U,$$

then the function  $f$  is univalent in  $U$ .

**Lemma 1.3** [13] (Schwarz's Lemma)

If the analytic function  $f(z)$  is regular in  $U$ , with  $f(0) = 0$  and  $|f(z)| < 1$ , for all  $z \in U$ , then

$$|f(z)| < |z| \quad \forall z \in U, \text{ and } |f'(0)| \leq 1.$$

The equality holds if and only if  $f(z) = cz, |c| = 1, z \in U$ .

### Main results

Our main result is a application of Lemma 1.2 and contains sufficient conditions for an general integral operator  $F^{\alpha,n}(m, q, \lambda, \gamma_i; z)$

**Theorem 2.1** *For  $f_i \in A, i = \{1, 2, 3, \dots, s\}, n \in \mathbb{N} \cup \{0\}$  and  $\gamma_1, \gamma_2, \gamma_3, \dots, \gamma_s \in \mathbb{C}$  If*

$$\left| \frac{z (D^{\alpha,n}(m, q, \lambda) f_i(z))'}{D^{\alpha,n}(m, q, \lambda) f_i(z)} - 1 \right| \leq 1,$$

and

$$\left| \frac{1}{\gamma_1} \right| + \left| \frac{1}{\gamma_2} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \leq 1, \quad z \in U. \quad (2)$$

Then  $F^{\alpha,n}(m, q, \lambda, \gamma_i; z)$  is univalent.

**Proof:** Since  $i \in \{1, 2, \dots, s\}, f_i \in A$ , we have

$$\frac{D^{\alpha,n}(m, q, \lambda) f_i(z)}{z} = \frac{z + \sum_{k=2}^{\infty} k^{\alpha} \left(1 + \frac{k-1}{1+q}\lambda\right)^m c(n, k) a_k z^k}{z}, \quad (3)$$

$$= 1 + \sum_{k=2}^{\infty} k^{\alpha} \left(1 + \frac{k-1}{1+q} \lambda\right)^m c(n, k) a_k z^k a_k z^{k-1} \neq 0, \quad z \in U.$$

By differentiating 1.3, we obtain

$$[F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]' = \left[ \frac{D^{\alpha, n}(m, q, \lambda) f_1(z)}{z} \right]^{\frac{1}{\gamma_1}} \dots \left[ \frac{D^{\alpha, n}(m, q, \lambda) f_s(z)}{z} \right]^{\frac{1}{\gamma_s}}, \quad z \in U. \quad (4)$$

and we have

$$[F^{\alpha, n}(m, q, \lambda, \gamma_i; 0)]' = F^{\alpha, n}(m, q, \lambda, \gamma_i; 0) = 1$$

Also, a simple computation yields Using 4, we obtain

$$\ln[F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]' = \frac{1}{\gamma_1} [\ln D^{\alpha, n}(m, q, \lambda) f_1(z) - \ln z] + \dots + \frac{1}{\gamma_s} [\ln D^{\alpha, n}(m, q, \lambda) f_s(z) - \ln z], \quad (5)$$

By differentiating 5, we have

$$\frac{[F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]''}{[F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]'} = \frac{1}{\gamma_1} \left[ \frac{(D^{\alpha, n}(m, q, \lambda) f_1(z))'}{D^{\alpha, n}(m, q, \lambda) f_1(z)} - \frac{1}{z} \right] + \dots + \frac{1}{\gamma_s} \left[ \frac{(D^{\alpha, n}(m, q, \lambda) f_s(z))'}{D^{\alpha, n}(m, q, \lambda) f_s(z)} - \frac{1}{z} \right], \quad z \in U. \quad (6)$$

Simple computation, we get

$$\begin{aligned} & (1-|z|^2) \left| \frac{z [F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]''}{[F^{\alpha, n}(m, q, \lambda, \gamma_i; z)]'} \right| \\ &= (1-|z|^2) \left| \frac{1}{\gamma_1} \left[ \frac{z (D^{\alpha, n}(m, q, \lambda) f_1(z))'}{D^{\alpha, n}(m, q, \lambda) f_1(z)} - 1 \right] + \dots + \frac{1}{\gamma_s} \left[ \frac{z (D^{\alpha, n}(m, q, \lambda) f_s(z))'}{D^{\alpha, n}(m, q, \lambda) f_s(z)} - 1 \right] \right|, \\ &\leq (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \left| \frac{z (D^{\alpha, n}(m, q, \lambda) f_1(z))'}{D^{\alpha, n}(m, q, \lambda) f_1(z)} - 1 \right| + \dots + \left| \frac{1}{\gamma_s} \left| \frac{z (D^{\alpha, n}(m, q, \lambda) f_s(z))'}{D^{\alpha, n}(m, q, \lambda) f_s(z)} - 1 \right| \right| \right], \\ &\leq (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \left| \frac{1}{\gamma_2} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \leq \left| \frac{1}{\gamma_1} \right| + \left| \frac{1}{\gamma_2} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \leq 1. \end{aligned}$$

Thus by Lemma 1.2, we have  $F^{\alpha, n}(m, q, \lambda, \gamma_i; z)$  is univalent.

Setting  $m = 0, \alpha = 0, n = 0, \gamma_i = \frac{1}{\alpha_i}$  in Theorem 2.1, we obtain the following consequence of Theorem

**Corollary 2.1** For  $f_i \in A \quad i = \{1, 2, 3, \dots, s\}$ , If

$$\left| \frac{z((f_i)(z))'}{(f_i)(z)} - 1 \right| = \left| \frac{z(F^{0,0}(0,q,\lambda,\gamma_i;z))'}{F^{0,0}(0,q,\lambda,\gamma_i;z)} - 1 \right| \leq 1, \text{ and}$$

$$|\alpha_1| + |\alpha_2| + \dots + |\alpha_s| \leq 1, z \in U.$$

Then  $(f_i)(z)$  is univalent, where  $(f_i)(z)$  is given by Breaz and Breaz [9].

**Theorem 2.2** For  $i = \{1, 2, 3, \dots, s\}$ ,  $n \in \mathbb{N} \cup \{0\}$  and  $\gamma_1, \gamma_2, \gamma_3, \dots, \gamma_s \in \mathbb{C}$  If  $f_i \in A$  satisfy

$$(i) \left| \frac{1}{\gamma_1} + \frac{1}{\gamma_2} + \dots + \frac{1}{\gamma_s} \right| \leq \frac{1}{3},$$

$$(ii) |F^{\alpha,n}(m,q,\lambda,\gamma_i;z)| \leq 1,$$

$$(iii) \left| \frac{z^2 [F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]'}{[F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]^2} - 1 \right| < 1.$$

For all  $z \in U$ , then the integral operator given by (1.3) is univalent.

**Proof:** Using 6, we obtain

$$\left| \frac{z [F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]''}{[F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]'} \right| \leq \frac{1}{\gamma_1} \left| \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_1(z))'}{D^{\alpha,n}(m,q,\lambda)f_1(z)} - 1 \right] \right| + \dots + \frac{1}{\gamma_s} \left| \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_s(z))'}{D^{\alpha,n}(m,q,\lambda)f_s(z)} - 1 \right] \right| \quad (7)$$

Multiply 7 by  $(1 - |z|^2)$ , using Schwarz's Lemma and obtain

$$\begin{aligned} (1 - |z|^2) \left| \frac{z [F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]''}{[F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]'} \right| &\leq (1 - |z|^2) \left| \frac{1}{\gamma_1} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_1(z))'}{D^{\alpha,n}(m,q,\lambda)f_1(z)} - 1 \right] \right| + \dots \\ &+ (1 - |z|^2) \left| \frac{1}{\gamma_s} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_s(z))'}{D^{\alpha,n}(m,q,\lambda)f_s(z)} - 1 \right] \right| \\ &\leq (1 - |z|^2) \left| \frac{1}{\gamma_1} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_1(z))'}{D^{\alpha,n}(m,q,\lambda)f_1(z)} \right] \right| + (1 - |z|^2) \left| \frac{1}{\gamma_1} \right| + \dots \\ &+ (1 - |z|^2) \left| \frac{1}{\gamma_s} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_s(z))'}{D^{\alpha,n}(m,q,\lambda)f_s(z)} \right] \right| + (1 - |z|^2) \left| \frac{1}{\gamma_s} \right| \\ &\leq (1 - |z|^2) \left[ \left| \frac{1}{\gamma_1} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_1(z))'}{D^{\alpha,n}(m,q,\lambda)f_1(z)} \right] \right| + \dots + \left| \frac{1}{\gamma_s} \left[ \frac{z (D^{\alpha,n}(m,q,\lambda)f_s(z))'}{D^{\alpha,n}(m,q,\lambda)f_s(z)} \right] \right| \right] \\ &+ (1 - |z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \end{aligned}$$

$$\begin{aligned}
 &= (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_1(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_1(z)]^2} \right| \left| \frac{(D^{\alpha,n}(m,q,\lambda)f_1(z))}{z} \right| + \dots \right] \right. \\
 &\quad \left. + \left| \frac{1}{\gamma_s} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_s(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_s(z)]^2} \right| \left| \frac{(D^{\alpha,n}(m,q,\lambda)f_s(z))'}{z} \right| \right] + (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \\
 &\leq (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_1(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_1(z)]^2} \right| + \dots \right] \right. \\
 &\quad \left. + \left| \frac{1}{\gamma_s} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_s(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_s(z)]^2} \right| \right] + (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \\
 &= (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_1(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_1(z)]^2} \right| - \left| \frac{1}{\gamma_1} \right| + \left| \frac{1}{\gamma_1} \right| \right] + \dots \\
 &\quad + (1-|z|^2) \left[ \left| \frac{1}{\gamma_s} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_s(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_s(z)]^2} \right| - \left| \frac{1}{\gamma_s} \right| + \left| \frac{1}{\gamma_s} \right| \right] + \\
 &\quad (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \\
 &\leq (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_1(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_1(z)]^2} \right| - 1 \right] \right] + \dots + \\
 &\quad (1-|z|^2) \left[ \left| \frac{1}{\gamma_s} \left| \frac{z^2 [D^{\alpha,n}(m,q,\lambda)f_s(z)]'}{[D^{\alpha,n}(m,q,\lambda)f_s(z)]^2} \right| - 1 \right] \right] + \\
 &\quad (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] + (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \\
 &\leq (1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] + 2(1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right] \\
 &\leq 3(1-|z|^2) \left[ \left| \frac{1}{\gamma_1} \right| + \dots + \left| \frac{1}{\gamma_s} \right| \right]. \tag{8}
 \end{aligned}$$

From 8 and condition(i), we have

$$(1-|z|^2) \left| \frac{z [F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]''}{[F^{\alpha,n}(m,q,\lambda,\gamma_i;z)]'} \right| \leq 1, \text{ for all } z \in U.$$



By Lemma 1.2, it follows that the integral operator  $F^{\alpha,n}(m,q,\lambda,\gamma_i;z)$  is univalent .

Setting  $m = 0$ ,  $\alpha = 0$ ,  $n = 0$ ,  $\gamma_i = \frac{1}{\alpha_i}$  in Theorem 2.2, we obtain the following consequence of Theorem

**Corollary 2.2** For  $f_i \in A$ ,  $i = \{1,2,3,L,s\}$ , If  $f_i \in A$  satisfy

$$(i) \quad |\alpha_1| + |\alpha_2| + \dots + |\alpha_s| \leq \frac{1}{3},$$

$$(ii) \quad |f_i(z)| \leq 1,$$

and

$$(iii) \quad \left| \frac{z^2 [f_i(z)]'}{[f_i(z)]^2} - 1 \right| < 1.$$

For all  $z \in U$ , then the integral operator given by Breaz and Breaz [9]. is univalent.

Acknowledgement. The author would like to thank the referee for his valuable comments and suggestions.

## References

[1] Nagat.m.Mustafa, and maslina Darus,. The Fekete-Szegő problem for starlike functions of order  $\beta$  associated with generalised derivative operator. AIP Conf. Proc.(2012) 15(22): 938-944.

[2] Nagat.m.Mustafa, and maslina Darus, Some extensions of sufficient conditions for univalence of an integral operator. Journal of Concrete and Applicable Mathematics . Apr2013, Vol. 11 Issue 2, p160-167. 8p.

[4] St. Ruscheweyh, New criteria for univalent functions, *Proc. Amer. Math.Soc.* **49** (1975), 109-115.

[4] Şalâhan, G. S. . Subclasses of univalent functions. Lecture Notes in Mathematics (1983) 1013: 362–372.

[5] F.M. AL-Oboudi, On univalent functions defined by a generalized Salagean Operator, *Int. J. Math. Math. Sci.* **27** (2004), 1429-1436.





[7] M. Darus and K. Al-Shaqsi, Differential subordination with generalized derivative operator, *Int. J. Comp. Math. Sci.* **2(2)**(2008), 75-78.

[7] Catas, A.. On a certain differential sandwich theorem associated with a new generalized derivative operator. *General Mathematics* ( 2009) 17(4): 83–95.

[8] N. E. Cho and T. H. Kim, Multiplier transformations and strongly close-to-convex functions, *Bull. Korean Math. Soc.* **40(3)** (2003), 399-410.

[9] D. Breaz and N. Breaz, “Two integral operators”, *Studia Universitatis Babeş-Bolyai. Mathematica.*, Vol. 47, No. 3, (2002). 13-19.

[10] D. Breaz, N. Breaz, and H. Srivastava ,An extension of the univalent condition for a family of operators.”, *Applied Mathematics Letters* 22: 41–44.

[11] G.I. Oros, “On an Univalent Integral Operator”, *Int. J. Open Problem Com. Anal.* Vol. 1, No. 2, (2009), pp. 19-26.

[12] V. Pescar and S. Owa, “Sufficient conditions for univalence of certain integral operators”, *Indian Journal of Mathematics*, Vol. 42, No. 3, (2000), pp. 347-351.

[13] Z. Nehari, *Conformal Mapping*, Dover, New York, NY, USA, (1975).